Extra Practice 4

	Lesson 2.4: Developing Rules to Divide Integers

1.
a)
Evaluate each expression.


Multiplication
Division


(+4) × (–2) =  
(–8) ÷ (–2) =  


(–3) × (+5) = 
(–15) ÷ (+5) =  


(–2) × (–3) = 
(+6) ÷ (–3) =  


(+3) × (+6) =
(+18) ÷ (+6) =  

b)
Look at the patterns in the signs in part a.
How are the rules for the sign of a quotient of two integers 
related to the rules for the sign of a product of two integers?

2.
a)
When is the quotient of two integers positive?

b)
When is the quotient of two integers negative?

3.
Divide.

a)
(–100) ÷ (–10) 
b)
(–72) ÷ (+9)

c)
(+56) ÷ (–7) 
d)
(–42) ÷ (–6)

e)
(0) ÷ (–6) 
f)
(–9) ÷ (–9)

4.
Find each quotient. Then order the numbers from least to greatest.

a)
(+10) ÷ (–2) 
b)
(–15) ÷ (–5)

c)
(–36) ÷ (+12) 
d)
(0) ÷ (–10)

e)
(–8) ÷ (–8) 
f)
(–48) ÷ (+12)

5.
Maya recorded the noon temperature each day for a week.


–12°C, –8°C, 3°C, 0°C, 1°C, –3°C, 5°C


What was the mean temperature?
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1.
a)
–8
+4



–15
–3



+6
–2



+18
+3


b)
The rules are similar. The sign of the product of two integers with the same sign is positive and the sign of the quotient 
of two integers with the same sign is positive. The sign of the product of two integers with opposite signs is negative and the sign of the quotient of two integers with opposite signs is negative.

2.
a)
The quotient of two integers is positive when the integers have the same sign.


b)
The quotient of two integers is negative when the integers have opposite signs.

3.
a)
+10 
b)
–8


c)
–8 
d)
+7


e)
0 
f)
+1

4.
a)
–5 
b)
+3


c)
–3 
d)
0


e)
+1 
f)
–4


–5, –4, –3, 0, +1, +3

5.
–2°C


